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3GPP R7 and ETSI OSA4 contain a requirement to support Service Broker functionality. In order to refine the understanding of this requirement and to determine the direction of this work in the Joint Working Group, we have listed a number of questions, example and comments that may guide JWG during the discussion. The contribution also contains a proposal in chapter 4.

1.
Questions

1. What is the ambition level of OSA Service Broker standardization? (i.e. what exactly are the problems we intend / do not intend to solve in the OSA Service Broker work item?)

a. Is the intention to enable detection of service interaction or also resolution?

b. When is the detection/resolution activity performed: at provisioning time (“static”) or at run time (“dynamic”)?

c. What happens when an additional application requests to be notified on an event for a specific user for which other applications have requested notifications already? Immediate evaluation to detect/resolve possible service interaction?

d. Is the Service Broker standardization work intending to solve service interaction for Call Control or also for other capabilities? If yes, which other capabilities?

e. Service Interaction detection/resolution between:

· OSA applications?

· OSA applications and native IN applications?

· OSA applications and native SIP applications?

· OSA applications and Supplementary Services?

f. Scope of work item:

· Standardization of a Service Broker API

· Standardization of a Service Broker API and a Service Broker architecture (showing the relation between a SB-SCS and other SCSes, and IN services and native SIP services?)

· Do we need to mandate a particular Service Broker architecture?

g. Handle service interaction when multiple applications have requested notifications to the same event?

h. Handle service interaction when multiple applications provide different instructions on how to handle a call? (e.g. application Call Screening sends a call release, before application 2 gets the chance to setup a call)

2. Based on what information from the applications will the Service Broker determine/resolve service interaction?

E.g.:

a. Trigger event + list of originating/terminating subscribers?

b. Indication whether the application is only active during call establishment or during the entire call?

c. A list of rules provided by each application (a rule is a combination of <call state, event, action it wants to happen>). The list of rules enables the Service Broker to compare applications and to detect service interaction

d. How can the Service Broker detect conflicts between the rules provided by different applications?

3. Service Interaction Resolution: what will happen if service interaction is detected?

a. The Service Broker will reject the application’s registration request?
b. The Service Broker will determine in what order to execute the services? (based on what information, provided by whom?)
c. The Service Broker will notify both applications upon receipt of an event and only process the answer of the application that responds first? (first-come-first-serve policy)
4. Transparency

a. Are the different OSA applications aware of each other?

b. How agnostic or aware is the Service Broker to the behaviour of the applications that set triggers on the same <event, user> combination?

5. What is the relation (or not the relation) between the Service Broker SCS and the Policy SCS?

2.
Examples of service interaction

1. Incoming Call Screening and Call Forwarding use case

a. User A has subscribed to two terminating Parlay applications that are both requesting notifications for an incoming call for user A

b. User A has indicated to the ICS application that she does not want to receive a call from user B

c. User A has forwarded her phone to a different phone

d. User B tries to call user A

e. What happens?

· ICS gets control first, followed by CF?

· CF gets control first, followed by ICS?

2. VPN and Prepaid

a. User A has subscribed to two originating Parlay applications that are both requesting notifications for a call attempt made by user A

b. The VPN application enables the user to each a colleague by dialling a short number. The VPN service will convert the short number into an E.164 number that can be understood by the network. The number plan is only understood within the VPN application

c. The Prepaid application applies charging for the calls made by user A

d. User A makes a call to a colleague using a short number

e. What happens if:

· VPN gets control first, followed by Prepaid?

· Prepaid gets control first, followed by VPN?

3. Personal Greeting and Do Not Disturb (both with announcements)

a. User A has subscribed to two terminating Parlay applications, that both play an announcement

b. What happens if:

· PG gets control first, followed by DND?

· DND gets control first, followed by PG?

3.
Comments

1. It is suggested to clarify first exactly what problems we intend to solve (i.e. refinement of the architectures) before we discuss possible architectures

2. It is suggested to distinguish the following phases in describing a solution for service interaction:

a. Registration of the application (i.e. the application providing the Service Broker SCS with data that it needs for service interaction detection/resolution)

b. Traffic (i.e. who does what based on what information when an event occurs)

3. It is suggested to specify when the “Service Interaction Registration” occurs:

E.g.:

a. After the application has signed an SLA?

b. Before the application invokes an SCF?

c. When the application requests to be notified upon occurrence of a certain event?

d. When an event occurs for which two or more applications have requested notifications?

4.
Proposal

Due to the technical complexity of the service brokering problem, it is proposed to first create a TR to perform a feasibility study. This feasibility study can refine the requirements, identify a list of issues that need to be looked at and work out the available options with pros and cons. Based on the conclusions of the TR the OSA Stage 2 can be extended with an architectural description of the selected option and a new TS can be created to standardize the stage3 of the selected option.

